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When the ministry of Education, Govt. of India established a college of
Physical Education at Gwalior ?

forem w=Te1a, Wwﬁmﬁmﬁwﬂﬁaﬁrmmmm

fomar 2
(1) 1961 (2) 1957
(3) 1963 _ (4) 1954

2 National fitness corps Programme was framed in -

T e Fraar SNg w1dewa a9 T o -

(1) 19659 2) 1986 #H
(3) 19728 S (4) 1984
3 When Y M. C. A, Collége of Physical Education Madras was started
(1) September 1920 (2) June 1920
(3) August 1920 (4) July 1920 :
AR T W e % FERERT TyheE, "R %9 Y% 5o ?
(1) fag=r 1920 (2) <[ 1920
(3) ST 1920 (4 B 1920

4 Match List-I with List-II and select the correct answer from the code
given below :

List - I List - II
() L.C.P E. Gwalior (a) 1954
(I) N. L S. Patiala (b) 1957
() N.D.S. (c) 1961
Iv) N. F.S. (d) 1965
- Code : '

O @ an qvy
I © @ @® @
2 b @ © (@
G O © @ @
@ @ @© O @ :
@—Iﬁ@—ll%mﬁ@mﬁﬁqamﬁﬁﬁm%wmgﬁq
o - -0
@O T 1=ﬁ 4. £, ey (a) 1954
(M) T 3R, . sfezmen (b) 1957

) wA. . W, (©) 1961
V) . T . {d) 1965
BE

O @ dn av)
() ) @ G @
@ b @ @© @
G ® ) @ @
@ @ @ ®» @
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The Chronological order of appearance of the followmg is glven
Select the correct answer -

() Common Wealth Games

(II)  Asian Games

(II) Arjuna Award

(IV) Rajeev Gandhi Khel Rattan Award
Code :

O @ o av

@ @ @ av o

G O @ an qv

@ av) @ @ ad

Fret 1t remgEn § 3 g W sw w w
@ FETaed T

) ufereA i

(D) ST TEHR

(IvV) Tsitg Mt @@ W W
@rg : ’
1 M @ @ av

@ @ avy

Gy O @ g av)

@ avy @ @ @

6  Raj Kumari Amrit Kaur was outstanding player of which game ?

(1) Hockey (2) Volley ball -
(3) Badminton (4) Tennis
TERA 37T SR frw @w # Iy faeret o 7

(1) =R Q) et

(3) Asfiea @ S

7 Who conceived the Asian Game's movement '?
- (1) Prof. G D. Sondhi |

(2) Prof Kamn Singh
(3) Maharaja Yadvendra of Patiala
(49) M. C. Dhawan
U Gell & AT B wewT fhE w® oo 7
(1) . s € =i (2) . v fag
(3) Hermen Afam, ufegren 4) WA . s

347/ PHYEDU_A] 3 (AT (Coned...

LED TR



347A 347A 347A 347A 347A 347A 347A
8

Match List-I with List-IT and select the cofrect answer from the code
given below :

List - I List - II
(@) Tara Chand Committee (a) 1947
(I) Central Advisory Board (b)y 1954
(Physical Education and Entertainment)
(If) All India Council of sports (c) 1948
(IV) Ad-Hoc Committee (d) 1950
Code : ’

O @ gn adv
M @ ® © @
@ @© @ o @
3 ® @ @ @
@ @ @ & © '
T - 1ol & - 1 3 T gifed st oo A9 fd Fre ¥ 98t s gfe

CogeEt -1 gt - I
(@ HUA (a) 1947
() i gemesr 9 (b) 1954
(zmifes faen 3 AARSH)
() @fgw aeds e afw (o) 1948
(IV) Ts-TF afufa (d) 1950
FE :
O @O Jn am

H @ ® © @
2 © @ ®& @
@) O © @ @
@ @ @ & ©

9  Mark the chronological order of the following institutions :
() Christian College of Physical Education, Lucknow
() Y M. C. A Madras :
(II1) Govt. Physical Teachers College, Hydrabad
(IV) Physical Education Training College, Kandivali
_ Code :
() (@ a @ av)
@ © av)yda g
3) (m gy avy @
4 @v) @ a. @ _
forer woEnE @ W wAgER fofe Y
@ Tl s o fElawa TghT, TETs
(I) <% . & T 95"
() TS YR e qEteEer, detER
V) TRifE foen wiae mefaeer, EARA ]
FIE : _
M @ gy O aWv
@ @O @ @O a
@) am @ davy @
@ ) m @ @

347 /PHYEDU_A]

-

(NSRRI LContd.--



347A 347A 347A ' 347A 347A 347A 347A

10 Match List-I with List-IT and select the correct answer from the code
gtven below :
List - | List ~ IT
(I) Long Bone (@) Navicular
() Short Bone (b) Tibia
(IIT) Flat Bone (c) Pattela
(IV) Sesamoid bone (d) Shoulder (scapula)
Code :
O @ an av)
M © O d @
@ @ © » @
G ® @ @ @
@ @ ® © (@
T - Iﬁ@—ll@magﬁmaﬁmamﬁ%ﬁﬁm@ﬂﬁwaﬁq:
gt -1 g -1n
O T e () “FolieET
m = g (b) fern
amn = &g (©) wem
(Iv) Iunds &g (d) & (Twem)
T : :
O @ @ av
M © ®& @ C@-
@ @ © o @
G ® @ @ (@
@ @ O © @
11 Maximum Absorption/digestion of food take place in :
(1) Stomach (2) Mouth
(3) Large intestines (4) Small intestines
WM AT SETA aa S
D = @ Wi
() @<t wwdt (@) B sidi A
12 In case of fracture the immediate care is -
(1)  Stop the movement of injured area
(2)  Take the patient to the doctor
(3) Apply ice therapy
(4)  Anti tetanus injection may be given
T €27 W1 WY w SgeR & 2
() e W 9 R o T
(2) T A eER & w9
(3) =% ¥ IR H
@) =AW Tl e wmaw o
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14

Which of the following is aerobic activity ?

(1) Cross country (2) Weight lifting
(3) Throwing (4} Jumping
frerfafaa § ¥ $9 @ s e ¥ 2

(1) T B (2) =T

(@) o (@) =

Match List-T with List-II and select the correct answer from the code
given below :

‘List - 1 List - II

(I) Pancreas (a) Liver
() Kidney. _ : (b) Lungs
(I} Tobacco {¢) Stone
{aIv) Alcohol (d) Diabetes
Code : |

O @ an av)
1 © @ @ O
@ O @O 0 @
G @ © b @
@ @ b @ © | | |
gEt - [ g - [ & are ot sifsg aen 9 58 &ie ¥ §8 3w 9he ¢

e -1 - 11
@ EfwaAs (@) <
m T (b) wwe
() T © TR
W) ws (d) wYHE

e

O dan av)
H © @& @ O
@ & @ © @
G @ © b @

@ @ ® @ ©
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16

Match Iist-I with List-]] and select the correct answer from the code
given below :

- (a)
(b)
(©
(IV) Pancreas (d)
Code :
@ @ @ v
Ly b @ @ (o
@) @ © @® @
() © b @ (@
@ D @ © O

List - IT
Oxygen
Blood
Insulin
Biles

zﬁﬁﬂﬁW—H%Wag&%ﬁWamﬁﬁﬁﬁ@ﬁuﬁmgﬁq:

TqH - 1
O 73 ()
(M) wwe (b)
() =ftex ©
AV) YAferamr (d)

I : |

O @ @ av)
M ® @ @ @©
@) @ © @® @
G) © () @ (@
@ @ @ @© @

- 11
SR
TF
sgfer
CIES

Mark the correct sequence of the following :

()  Stretching exercises
(I) Passive exercises
(I} Unresistive exercises

(IV) Active exercises
Code ;

(M @ qv) aom
@ avy Iy @ @
B m o
Fefafas = wd wa 9 fafea =3
O T w5 Fay

() g wowd

() fom sy =y
(IV) 31 (ufeee) @
m .

) @ av) an @

@ M @m @

G) am @ avy o
@ O ay @ av)
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17 Two grams of carbohydrates carries : /
(1) 4 calories _(2) 6 calories
(3) 8 calories (4) 7 calornies
< UH Tm"lﬁ%ﬁ?;?ﬂﬁ Bt §
(1) =R (4) Dads (@) @ (6) BT
(3) IS (8) Hells (4) =@ (7) B
18 Rehabilitation of injured athlete is done by
(1) Physiotherapy (2) - Corrective exercises
(3) Cryotherapy (4) Hydrotherapy
Hre 7= faerel & [EE fEm SR : |
¢ fafaEreRd ER Q) U S Fl
(3) HREETT TG (4) TR AR
19  The majority of liver in Human body are :
(1) First class liver (2) Third class liver
(3) Second class liver (4) First and Second class liver
THE TR ST Saee B © |
(1) WoH A wie () g I e
(@) e Rt el @) wem 7 fda Ao e
20  Kyphoses deformity is also called : .
(1) Round Back . (2) Hallow Back
(3) Lateral curve Back (4) Back curve
FEERTY fawa Y| o HEd € |
(1) Tie-%aL Q) w9 S TR A0 gH
(3) R TF WES T T (4) wA TS FYH @
21 Principle of stability is best utilised in :

(1} Sprint start (2) Boxing-

(3) Wrestling (4) Taikawando
feoprar & forgla &1 FaW ST AT €

(1) U 3 H AT (2) TFHAEH

@) B (4) TS

347/ PUYEDU_A] ; AT 1Conta-



e T

- 39 309 3A 399A 39 A 307 A 3&}";/”\

/

22 - Neck Joint is an example of :
(1) Pivot Joint (2) Hing Joint
(3) Saddle Joint (4) Condyloid Joint
TH & e S ¢
(1) Fyoz s (2) fen<rs
(@) 5w sis @) widemE e
23. Law of Inertia represents ¢
(1) Newton I law of motion
(2) Newton II"d [aw of motion
(3) Newton I1I'd Jaw of motion
(4) Law of acceleration '
S 1 Fram glafifae e & -
(1) =g = ufd =1 9o fam
() A w T W T fawm
(3) A wt nld & g e
(4) & e
24 Movement away from the midline of the body is called :
(1) Adduction (2) Abduction
(3) Flexion (4) Extension
T F A ¥ QS A yhEe weed
(1) Te=m | @) YsewE
() wEE (4 TERwE
25 Muscle Which_ relex at the time of physical movement are :
(1) Stabilizers (2) Antagonists
(3) Agonists . (4) Neutralizers
Wi fear § W wigdfe fafer wdt S @
Q) fems | (2) fgs
(3) wEeRE @ e
26  In body mechanics, which of the following is labelled as internal force 7
(1) . Air pressure (2) Gravitational Pull
(3) Muscle force (4) Momentum
R AIfAwta ¥ FF @ ol o /e S & 9
(1) =g = (2) TeErEYY fame
(3) wiwEh =@ (4 =m
347/ PHYEDU_A] ? ARy (Contd...
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27

28

29

Match the following and mark the correct answer :

List - 1 List - II
{I) Dislocation (a) Cracked
(I Fracture (b)  Analgerics
(IIl) First Aid (¢) Absence of a qualified coach
(IV) Injuries (d) Displacement
Code :

O @ an av)
1) © @ ) (®)
@ @ b @ ©
Gy @ @ & (o
@ @ O @ ©

=1 = fireme 7 W&t Sw w1 fafead w5

' e -1 e - 10

O “E ¥ fawE (2) wHg

) gen (b) TieNITEFT

() wafas 3S9Er (c) e wiers wt arqufiafy §
vy = (d) Taeare

3@@"

O @ @n av)

D © @ @ O

@) @ O @ (@
G @& @ 0 (©
@) @ ® @ (©

Which of the following emotion is peculiar only to Human being :

(1) Love (2) Fear

(3) Laughter (4) Anger

T W B G SHET W s § g wre a9
(1) ™R 2)

(3) @ 4y =iy

Who is the author of the book titled "Psychology in Contemporary
Sports" ?

(1) Bryant J. Cratty (2) Robert N. Singer
(3) R. B. Alderman (4) J. B. Kane
“Psychology in Contemporary Sports” & S@% HI7 ¢
(1) wa= W & @) Ude m. fam
@) . . e @) . B

347/PHYEDU A] 10 (IHIIN EContd..
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30 The theory of Psycho - analysis was propounded by :

(1)  William Woodwarth (2)  Peter Sandiford
() William Mo Dougall 4)  Segmund Freud
m‘r—ﬂgﬂiaﬂaﬂfasiaﬁﬁa%gmuﬁmﬁamw o 9
(1)  fafeam qeaed (2) X Yvewd
G)  fafermt 4 sge () fumis weg

31  Psychology is the study of : .
(1) Human movement (2} Human body
(3) Human interest (4) Human behaviour

(1) A g (2) wra wi

() WmE w9 (4) wFE STERR

32 Arrange the following phases of motor learning in order of sequence mark :

(D)  Phase of fine co-ordination
() Phase of rough co-ordination
() Phase of automatization
Code :
() O @ and (m)
2) @, (W) and (1)
® @ © ad qm
4) (I, D and (V)
I w5 ume srensl w1 wd 9
) &7 wog @t i
@ fovm wrag = fefy
() w=EE=ET @ foufy
HE
O O @ =
@ @ a @ @
G) M O @ m
@) ), @ w (g

347/ PHYEDU_A| T I (Cond..
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34

'Identif‘y the sequencial stages of Hurman growth from early to later stages :

(1) Infancy, Childhood, Adolescence, Adulthood
(2) Childhood, Infancy, Adulthood, Adolescence
(3)  Adolescence, Adulthood, Infancy, Childhood
(4)  Aduithood, Adolescence, Childhood, Infancy

T % fmre w5 fafe sl @ w9 gen - _

(1)  vrerareen, seRmaeen, v, aqes
(2) SR, Yo, g9, ke
() ferviRmEwn, weres, Seamren, sy
(4) =awh, fRvieen, swaeen, Suarer

Match List-I with List-II and select the correct answer from the code given
below :

List ~ I : List - II

O Growth (a) Progressive change toward greater
maturity

() Development (b) Qualitative change after maturity

(I} Maturation ' (c) Increase in size and shape

(IV) Learning _ (d) Process of modification in
behaviour '

Code :

@O @ @ av)
O ® © @ @
@ © ® @ @
G @ © ®» @
@ @ O © @
T - 1 gef - H%magﬁﬁ—maﬂﬁqwﬂ%ﬁ&aﬁg%uﬁmgﬁq:

T - 1 Q- 11
M Ffg (@) 3= 9ftvamar &) oy fgds
() feery (b) R9F@ & A€ T aRedy
(I) So%=war (c) R T T2 F 9fy
(V) dre (d) =R ¥ gur =t whear

W :

O @ a av)
O G © @ @
@ © & @ @@
G @ © ® @
@ @ ® © @

347/ PRYEDU_A| 2 MM Cont..
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35 Individual differences are due to
(1) Environment impact
(2) Heredity impact
(3) MHeredity and environment impact
4) Commuﬁity impact

safTa fafisra &1 ewor §
(1) =R g (2) =W 39
(3) W T SEERY gwg 4y wWqtaE wuE

36 In nature long term plan of sports training are by and large :

(1) Conceptual (2) Abstractions

(3) Practice oriented (4) Competition focused
T I W B giem § @ ww w dee g

(1) = (2) Heu A

(3) s (4) vieafm Bfee

37  Arrange the common elements of learning situation :
(I} Varied response
() Purpose
() Selection of successful attempt

(IV) Ultimate stabilization of correct response
Code :

O @ m o av

@ @ O an av)

G @ am o av

@ OV @ an @

dE w5} feufd & wmr a@t # wweg w5t

@ T TR & e

I

() € FA WIE &1 A

(V) 39 4 wdt warg w0 feeran
T :

0 @ @ av
@ @ @ @y avy
G A @ O av
@ @) @ a @

347/ PHYEDU_A| 13 NI tConca.
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T

347
“°"38" Match List-I with List-1I and select the correct answer from the code -
given below :
List ~ 1 List - 1I
() Thorndike (@) Insight theory
() Tolman () S-R theory
(I0) Ivan Paviov (c) Sign significate
(IV) Wolfgang Kohlar (d) Trial and error theory
Code : '
O @ Oh av)
1 © © @ @
@ @ @ © ©®
@) @ © @ O

@ @© b @ @
@ulaﬁxﬁr—ﬂﬁma@maﬁmwﬁﬁﬁmﬂwmgﬁq:
_I .

ESl - 1
qQ drisE® () e fas
() 2 _ (b) wu-sw fagrd
() S0gar Yada | () i fafafwde faer<
(IV) NEF HIER (@) waE 3 32 fagT
wE :
@ @ an av
M © ® @ @
@ @ @ @ O
G @ © @ ®

@ © ® @ O

39  Height of the table tennis table is :

(1) 30 inches (2) 32 inches l
(3) 31 inches (4) 28 inches
S 2 YaE A Sad o T | \
(1) 30%9 @) 32%
G) 313 . (@) 28 ¥ | |

40 In Volleyball, for over head pass :
(1) Head is used
(2) Fingers of one hand are used
(3) Fingers of both hands are used
(4) Palm of both the hands are used
arciara # far 3 S
(1) fax v A ¥
() T Ty w il E wET %
(3) O mel @ suferdt A g g
@ o @ # AR A A

347 / PHYEDU_A] 14
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41 Fartlek Training is given for improving @ R -

(1) Strength (2) Endurance
(3) Flexibility @) Agility
ERS AT g feuet giE e

Q) md | (2) weRiTar
@) e @) v

42 Match the following and mark the correct sequence given below :

List I - List 1

(@  Water jump - (a) Basket ball

{1 Diégonal Distance (b) Hockey

(IIl) 23 Meter Line (c)  Steeple Chase
(IV) 8 Seconds (d) 800 Mt. race
Codes :

O @ m av)
O @ © O @
@ © @ @ ®
G O © @ @
@ © @ O @ o
frt o1 gifer F0 en 9 faw wre F A 9@ wow w fafe 9

il : it 10
@ = 5y (a) STEhe A
(I &gl (b) e
M) 23 Hex @ © e A
(V) =13 S%s (d) 800 X g
wE
O @ am Qav)

O @ © O @
2 ©@ @ @ ®
G ® © @ @
@ © @ O @

| '347/PHYEDU_A] 15 I (Conta..
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13 Match the following and mark the correct answer given below :

List 1 List II
(1) Circuit training (a) Winter Bottom
() Farilek training (v) Dr. Reindell and Greschler
() Interval training (c) Gosta Holmar
(IV) Pressure training - (d) Morgan and Adamdson
. Codes :

@ @ @y vy
1 © @ (@ O
@) @ (© (b (@
L0888
‘14 ¥
"ﬁﬂ@ﬁmﬁraﬂaaﬁw@ﬁ%ﬁﬁ:

T 1 | e I
@) diwe e (2) Ta=x e
@) EcER T O T A e G B
(M) eraue SfEeTo (c) Tl BN -
_El[%\g T e (d) T o TEHSHT

| @O @ o av
M © @ @ O
@ @ ® @
3) ¢ @ @ ©
@ @ ©® © O

44 Match List T with List I and select the correct option using the code
given below : -

List I List 1T
() Let ' (a) Football
() Libero (b) Table Tennis
) Pivot (c}) Volley ball
(IvV) Off Side (d) Basket ball
' : (¢) Hockey
Codes :

O (@ am av)
O @ ® (© @
2) ) () @ @
38884
c =] i
@Ia%@ll%u%aﬁaﬁ%@aﬁmaﬁﬁ%ﬁﬁ:
I I .

it

@ (a) HEdd
o@m e . (b) =@ ™
LY fme . (c) =i S A

(AV) 3TF TS _ (@) TrEe i

=T : | © =

o @ am av)
1 @ ©® (© @
@) ) ( W @
3 © b @ @
@ @ © O @©

347/ PHYEDU_Al o RN tContd...
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45 Arrange the following events of the first day Decathlon in proper sequence
- of their occurance and mark the correct one :

D 400 Mt,
(I)  Shot put

(IlI) Long jump

(V) High jump

(V) 100 M.

Codes : _

O V) @m m av) @ -
@ O avy a @ )
G Vv av) @) @ @
4 @ Ay vy vy @
LFEE F Yoy fow B 2 I si=w & wdt wu fafed B4 :
O 400 X
() e EBF

() <t 53

av)y s 7z

(V) 100 Hi=X

HE : |

1 dm am av) @
@ O a @ @ ()
G) V) av) (@ @M @
@ @ am @) vy @

46  Range of Motion in joints of Body is measured by -

(1) Sperometer (2) Scoliometer

(3) Goniometer (4) Skin fold

R & gt # et ufesht @ oA s

(1) ¥R (2) wfsinfe

(3) wfEEHR | (4) W Fies |
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47  General Motor ability test and battery which include standing broad jump,
medicine ball put (¢ Lb) and Zigzag run is constructed by :

(1) Harold M. Barrow (2) Bernath E. Phillips
(3) David K. Brace (4)  Gran Villes B. Johnson

WA WS Al WiE w1 g e famd efer are e, ‘»‘}ﬁ::mara
T sfirem I wiwmfad €, @1 fmin fiea -

() T I | (@) e feem
(3) =9 #. Ww @) I faem . Srwe
48  Match List I with List IT and write the correct answer -
List - I _ List - 1I
(A) Motor Educability - (D  Harold M, Barrow
(B) Motor ability () Mec. Cloy's
(C) Basketball ability test (I L. William Johnson

(D) Field-goal speed test, Basketball (IV) Robert D. Knox
throw for accuracy and dribble
Find the correct answer from below
Codes :
* ® ©
O @ @ av) qn
@ O @ dm av)
G O @ aw
@ O av @ o '
qﬁ—raﬁqﬁt—n%magﬁﬁaaﬁh&ﬁ%ﬁﬁ@aﬁgﬁaﬁmgﬁa:

-1 FEit-11
(A) TR foerofierar (O e w aR
(B) TR draal () s, Fiew
(C) wr@he dfa Jraar Wy () wa. fafemm sia
(D) wice e witg gdiay, (V) =2 1. =g
g T e B fau
AEhedie o
e 4 R wdt 3w e
wE :

® ® © O

1 @ © av

@ O @ an av

G) O @ @ av

@ O W@
347/ PHYEDU_A] 18 [IIEIRIAY (Coned...



'Whét is the correct sequence of the AAHPER-youth physical test items o
(a) Pullups or Flexed arm hang
(b} Shuttle run
(c) Bend-knee setups
(d) 50 yds dash
(¢) Standing Broad jump
{f) 600 yards Run-walk
Codes :
N @ ®» © @ & O
@ @ © 0 @@ @O O
3@ 0 @ ©@ @ @ O
@ © b @ 6O @@ @
AR = Trfose The wa & Wel HA H =T B
() YO A Ry A &
(b) WA T (W)
(c) dvs-H W
(d) 50 TS W
() i rs Wy
() 600 TS TI-91h
HE
M @ & ©@ @ @ O
2 @ @ & @@ @& 6
B ® @ © @ @ O
@ ©@ b @ O @@ O@
50 "It is the quality of life that enables an individual to live most and serve
best." Who defined health ?
(1) J1. F. Williams (2) WHO.
(3) J. B. Nash (4) Charles A. Bucher
T e 1 AEE § S U ST B el S9A SiH o I99 A & odeh S
2 | fre wree w0 ofonfag e 2
(1) . ww. fafemm (2) e, T 3.
(3) = & A (4) =ed. T. S
347/ PHYEDU_A] B (RO [Coned-..
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51 Beri-Beri disease in due to lack of
(1) Vitamin B, (2) Vitamin B,
(3) Vitamin Bg (4) Vitamin By
FA-30 ) ) fr A H W Ao @ A d 2
(1) feaafid B, (2) foarta B,
(3) fTaafd B : (4) fertua B,
52  Match List-I with List-II and find the correct answer :
List-1- List-11
(A) Malaria O HV
(B) Dysentery _ (Il) Bacillus Thyphous
(C) AIDS () Housefly
(D) Typhoid fever (IV) Plasmodium vivax
Select the correct answer :
Codes :
A ® © ®
(H @ @© a dy
@ @O W ay av
Gy @ avy @ @
@ o a O @O
-1 # g-11 & gafem R 9 oft s g -
-1 | qeit-11
(A) wafen (D wEemEA
(B) eEd=R (Iw) (M) FHE e
(C) Tsq (D) T T
(D) EFES TER (1v) wrerifean foay
i F w@ S
wE
A ® © O
O @ ©® av
2 O O Jm av)
(3 4 avy a @
@ @) a o @
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53

Match List-I with List-II. Find the correct answer :

List-I . List-1T

{A) Diet () Key to good health

(B) Nutrition (II) The kind of food on which
an individual live.

(C) Fat (IIT) A high percentage of body fat

(D) Obesity (IV} Richest source of energy

Codes :

A) B) € O
(1 avy @ aj
@ @ O @) 4y
@)y @O @ am av)
4 dn avy @ @ -
-1 1 -1 § gafaa & 9 adt s

T=i-1 R ip

(A) TIF () o™= @A & HZoi

B) ¥, (A1) e 1 YR o 9T A f €
(C) =™\ : (D TR o9 i I== ufaea

(D) T (IV) =1 61 359 |a

e 4 @ W IW @ gAe s |

wE -

A) B (©) (D)
I @)y @ @)
@ @M @ @)
G O @ a av
@ d av)y a @

54 Which enzyme digest protein ? -
(1) Lipase (2) Amylase
(3) Trypsin (4) * None of the above
WA 1 IR - G e & 2
(1) s (2) T -
@3) fefwm @ TR

55  Which statistic is used to calculate the Stability, Variability and Homoginity
among two players : '
(1) ANOVA
(2) Chi-square
(3) Co-efficient of variance (C.V.)
(4) Regression _
A faemstal & e feerm, foeroriterr o wenfeam &t oA & @S wa-
WemH WS R ¥ 2
(1) wEvr faveau (T (2) HE-THET

; (3) Tararor s (iLETL) (4) femA
347/ PHYEDU_4) 21 IR (Cone-
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SE Mieich LISt-1 with List-]) and write the correct answers @ -

List-1 List-I1
2
fo —f
(A) F test 0 :-Z-g_%___e_)_
<]
(B) ' test

(C) Rank correlation

(D) X2 test (chi-square)

a - Lage variance (v1)
= ___-__———._________-_-
Small variance (vy)

a = X-X,
I
Sl—+-—.

ﬂl I'!z

2

) =152

)

Codes
(A) ® () (D)
OO an m vy
@ @ @y av @
G @ @ av (1)
- @ am a q av)
L ' -Iaﬁgeﬁ—nﬁmagﬁﬁaﬁmmﬁ%ﬁ;&@aﬁaﬁwamﬁﬁa-
FQ‘ i1 -1
e PRY:
(A) U ey 0 :Z(f‘; fe)
_ Large variance (vi)
®) 2 wdamr () * Small variance (v, )
_ X -X,
©) = weamry am g, 1
i ny
[ 634>
D) #F whr avy ~ *u(nz_l)
FHe
A) ® () (D)
DO am (IV)
@ @ V)
G) M @ qv am
@ m @ q av)

347/ PHYEDU 4)
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58

Write the sequence of process (steps) involved in analyses of vartance -
select the correct answer -

(I) Raw sum of squares of items (R.S.S.)

(II) Correction factors (C.F.)

(I0) Total sum of squares (T.S.S.)

(IV) Sum of squares due to error (SSE or SS,)
(V) Sum of squares due to treatment (SST or SS.)
Codes :

(M @O @ dam Ivy (v

@ @M an ® () av

¢y 1 @ @ avy v

@ @ O @ v

e fasee § WhEa (W) ) wEeR R W el w gy -
() TS H A

() EWET HH

() =i %1 %@ A

(V) wfteed & st el @ gm

(v) wfaedf & i o % 9

TR

O O a dn av) )

@ M @ O v av

G am @ d a) )

4 @M O ay v av)

A state sports association differs from its national body in -
(1) objective (2) function

(3) jurisdiction (4) constitutional status
UF T B 9 T e ¥ B g -

(1) = 2) W™

(3) wrEa (4) dfaam &R

347/ PHYEDU_Al B NI (Coned...
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60

Principles of management, by and large, are based upon
(1) Common sense and our day-to-day experiences

(2) Scientific theories and facts derived there from

(3) Data obtained through variety of social surveys

(4) Directive principles of state policy

Tiq & Tagrd SUGRT STEfE o ¥ -

(1) " gfE 9 T A & SYE W

@) AP fagrt = o fed T Aol &

(3) ﬁfwm%wﬁmﬁw%mwa’w@iﬁ
4) v i & fagl & e H

Match List-T with List-Tl and select the correct option using the code
given below : :
List-1 List-11

(A) Physical fitness () is an instrument used to gain
information
(B) Evaluation (I) is the process of collective
information
(C) Test () is a process of determining the
: worth of data collected
(D) Measurement (IV) Tt is the ability to carry out daily

tasks without undue fatigue

Codes : .

A ® © O
O O o a a"
@ @ O @O
¢ @ a O av
@ @ @ av a
il -1 # T gk A g A e e F Al I

IR
-1 -1

(A) Wit &Aar @ g S s AR

(B) YT (D) gﬂmmmﬁﬁm%

(C) = () g fed T sHEst & A
fryafror =t wfe |

(D) @A IV e fir ud ST & B H B
A ©

weE

4 ® © O
O @ @O g V)
@ @ O @O
@ @ O ao
@ a o av) @
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62

Match List-1 with List-II and select the correct option using the code
given below ! ' ' : :

List-I List-II
(I) Personal Management (a) Disposal procedures

(II) Instructional Management (b) Audit and accounts

(I0) Finance Management () Revision of curriculum
(IV) Material Management {(d) Conflict resolution
Codes :

o @ am Jqv
D @ @© ©® @
2 @© b @ @
@ b @ @ .
@ @ @ @© O
-1 = =11 % 9 gifera s o A e T e ¥ W IW LR

-1 HEi-11 |
@ == T (@) Trer wr fafy
() FRUHE FT9 (b) <@ e &A@
am fsfqg wara () TRSTHH F FRIET
%Vg) il W ) d wmee

@O @O dn Jv)
1y @ @@ ©® @
@ © b @ @
G G0 @ @ ©
4 @ @ © O

Write the correct sequence of general steps for construction of a test !
(a) Determination of the purpose of test
(b) Acquired the necessary facilities and equipment need for test
(c) Selection of feasible test items
(d) Finding validity, reliability and objectively
Codes :
O @ Jn av
B @ & @@ O
@ ® @ @ ©
@) @@ @© ® @
@ () @ @ O®
e Gt & for TR wH W w9 FEeR fated -
() e H sy fate -
(b) ey & fod sed gfaud o Sl w1 SiEvEshl
(c) TN 9w FEEA WA
(d) A, foweriam 7 SwgiEa ® da e
HE ¢
O @ @ av
M @ O © @
@ & @ @ ©
G @ ©@ ©® @@
@ @© @ @ ®
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64

65

Which is not the principle of organisation ?

(1) Decentralization (2) Delegation

(3) Over-lapping (4) Communication
43 Ry Ty H A BE-W dTed W e @ e ?

(1) oz 2 TEESE

() e (4) S9N

Test and measurement help in

(I) Assessment of status

() Assessing the differences

(1) Drawing conclusion

(IV) Setting up of objectives

Find the correct combination :

(1) (D), (I and (IV) ) (0, (1) and (I1I)
(3) (1) and (III) (4) (W), (I1) and (IV)
e ik w9 FRa wedm ww g 2

1y feufa =1 geaE

(I) 3=l o1 YEAIh

() freed fepE

(IV) s Tfd T

e g W Wit ¢ _

(1) @, @ RaA) @ (O, (D R
(3) (1) sfT ) (@) (I, (1) SR AV)

Which of the following factors should vary from activity to activity -

(1) Class composition (2) Class size

(3) Class leadership 4) Class level
et & Q@ Y e e | fr & ford o R ¥ 2
(1) wen ffor (F@e) (2) HEN SRR

(3) R g @) wE W
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67

Given below are two statements one is fabelled as Assertion (A) and other

is as Reason (R} :

Assertion (A) : Physical Education is an elective discipline

Reason (R) :  Physical Education borrows principles from other allied

fields.

In the context of two statements, which one is the fdllowing is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both(A)and (R) are true, but (R) is not the correct explanatlon of (A).

(3) (A) is true but (R) is false.

(4) (A) is false, but (R) is true.

A= A FHe o TR | GF B AR (A) 7O TR W (R) FE T

AfFeT (A) © WS foan e Usew fovg &

T (R) : sﬁﬁmmmﬁmﬁmmaﬁﬁ@mﬁfw}aﬁ
_ g2

et wort # & S F W S |

(1) (A) T (R) A =R & 991 (R), (A) = T one § 1

(2) (A) T (R) A W& # 1 WG (R), (A) F W = W R

(3) (A) &R ¥, g (R) Tad ¥ |

(4) (A) e § WG (R) WE |

Make the correct choice from the Assertion (A) and Reason (R) given below :

Assertion (A) : A chess player does not get injury in a competition.

Reason (R) : A player needs to warm up to avoid injury.

Which one of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false. '

(4) (A) is false, but (R) is true, )

T Q@ weT wH afereR (A) 9 TEU A (R) fem T ¥ -

sifawe (A) : % 29 faerst = wRmEifm ® a9 T8 ot ¥

T (R) T faemst ot 9 @ g @ o ol o = srevEe
?

ot el # § * W wo w7 2

(1) (A) @ (R) 36l 6t § 991 (R), (A) ¥ G =5 §

(2) (A) 99 (R) S W § | 9 (R), (A) & 96 =mEm 96§

3) (A) W 8 W (R) 7 T |

@ () 3w ¢ wg (R) W §
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Given below are two statements one is Assertion (A) and other 1s

Reason (R) :

Assertion (A) : Good posture enables to feel relaxed, comfortable and at
case while efficiently performing different kinds of
movements necessary for daily living.

Reason (R) : School going children develop bad postures due to improper
clothing, bad habit of sitting, reading and writing and
carrying heavy school bag.

Which of the following is correct ?

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(3) (&) is right but (R) is wrong. S

(4) (A) 1s wrong, but (R) is right.

#\%amm%twﬁwaﬁ(maﬂ?@uﬁ@%t

sifEReA (A) ¢ s st ¥ afs ffe, SFETHRTS T IHE ¥ a7

| %maﬁ%%mﬁaﬁmw% |

& (R) Waﬁaﬁﬁmﬁﬁmmﬁﬁma}mﬁm

-W,%ﬁﬁ,wﬁa%@%aﬁmaﬂaﬁwmﬁ;ﬁéﬂ
|  m AR
ﬁﬁﬁﬁﬁﬁﬂﬂ[$mﬂﬁ%?
) aﬁ(A)aﬂt(R)u@%m(R)(A)aﬁu@mqﬁ%n
) aﬁT(A)a?r((R)aé%w(R),(A)aﬁqaam@r%l
(3) (A)aﬁ'i%,w@(mw%r
) (A)W%W(R)E'é%l

Given below are two statements, one is fibelled as Assertion (A) and other

is as Reason (R) : '

Assertion (A) : Team's performance goes down due to lack of cooperation.’

Reason (R) : Group cohesion is the togetherness among Group members -
striving for a common goal.

Find the correct answer - :

(1) (A) is true but (R) is false.

(2) (A) is false, but (R) is true

(3) Both (A) and (R} are true and (R) is the correct explanation of (A).

(4) Both(A) and (R) are true, but (R) is not the correct explanation of (A).

23 3 a1 [ ™ R TEH ﬁwmmmw@ﬁﬁ@mw%l

sAfivsreA (A) Wﬁﬁ%mmﬁﬁmma@%t

@ (R) Wﬁwmaﬁ%@wawaﬁﬁmﬁ%mw |
2 el H UHeEd ©
fr A D W SW A e

(1) (A)E%"I%,W(R)W%\

2) (A)W%W(R)aﬁr%\

3) (A)W(R)aﬂ‘iﬂé%m(m,mﬁaﬁmm%l

(4) (A)aw(R)aﬁiw"r%lW(R),(A)aﬁqﬁmmqﬁ%l
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70  Given below are two statements one is Assertion {(A) and other is as

Reason (R) :

Assertion (A) : Timetable means planning the day long activity week-long
activity, Monthly activity, Annual activity etc. at a fixed
times having flexibility of making need based changes.

Reason (R) : Properly framed school timetable helps to accomplish the
objectives of the school.

Which one is correct in below :

(1) Both (A) and (R) are right, but (R) is not the correct explanation of

A
(2) ](30)th (A) and (R) are right and (R) is the correct explanatxon of (A). -
(3) (A) is right but (R) is wrong.
(4) (A) is wrong, but (R) is right.
ﬂ%ﬁmﬁﬁ%ﬁﬂﬁqmﬁwm(mawﬁ(m%l
afweE (A) 99 VRO 0 3 ¥ e B wrEl @ ST, WwiE % s
| *1 ST, e F w1 e, At S S )
B _ U Tfes SHAgER A9ERE & STER W SR uflEds & |
CFER) o WE W AR T e W e g R e 6 Ry
W W erar fuerd ¥
e o @ o W o w2
(1) [/ (A) 3R (R) & & AfFA (R), (A) F1 WE =ren T8 ¢ |
(2) @ (A) HR(R) W § 3 (R), (A)aﬁﬂﬁwm%[
(B) (A) ¥ 2, @fsT (R) Tow ® !
@) (A) Tem ¥ AfE (R) T

71  Given below are two statements one is libelled as Assertlon (A) and other
is as Reason (R) :
Assertion (A) : ‘Modern concept of health includes only a sound body with
adequate fitness.
Reason (R) :  Health is a state of complete well-being.
Find the correct answer :
(1) (A) is right but (R) is wrong.
{2) Both (A) and (R) are right.
(3) (A) is wrong, but (R) is right
-(4) Both (A) and (R) are wrong.
- ﬁ%ﬁrwﬁ%mﬁr%|W%uwﬁﬁwmmaﬁ@iﬁaﬁ(}{) -

FE T §

AR (A) © I3 T & U TGS wrderwan § Tarest 6t snygfen faanam
T '

& (R) W T TqUl HEaroreprl e § |

fra syl ¥ W S W w5 g8 § 2
(1) (A) ¥ & %g (R) 994 ¢ |
(2) < (A) S R) T |
" (3) (A)3EA B, WG (R) ¥HA ¥ |
(@) 3 (A) S (R) 3w |

347/ PHYEDU_A] 2 [HETTRTIMIqY tContd...

COM L TR



347A 347A 347A 347A 347A 347A 347_A

72

73

Given below are two statements one is Assertion (A) and other is as

Reason (R) :

Assertion (A) : Competitions are indispensable for enhancement of sports
performance.

Reason (R) : Competitions provide opportunity to the individual to prove

his physical and psychic ability
Which one of the following statement is correct ?
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) (A)istrue but (R) is false. ' ' .
(3) Both (A) and (R) are false.
(4) (A) is false but, (R) 1s true.
ﬁ%aaﬁuﬁﬁ@%ﬁﬁuwﬁﬁwm (A) @ 51 ® T (R) FE
T |
sAfRer (A) e e e # gt & fod emfterd ¥
% (R) mmﬁm@ﬁﬁmmmﬁmam-

SUEEED maﬁmmﬁmmmw%i

(1) 3 (A)aﬁT(R)ﬂﬁT%@(R)ﬁ (A) F T e €
@) (A) T ¥ TG (R) oA T
(3) (A)efr{(k)mm%l
@) (A) I E T (R) ¥ ¢ |

Two statements, one is Assertion (A) and other is Reason (R) is given

below :

Assertion (A) : Basic research is primarily concerned with the formulation
of a new theory. _

Reason (R) : Tts main aim is the discovery of knowledge solely for the
sake of knowledge.

 Which one of the following statement is correct ?

(1) (A)is right but (R) is wrong.

(2) Both (A) and (R) are right.

(3) (A) is wrong put (R) is right.

(4) Both (A) and (R) are wrong.

2 3w fad & fori wh ® e (A) S g T (R) T

s (A) Waﬁé%g@ﬁhﬂ@f&@?ﬁﬁwﬁwﬁmﬁ%
2

T (R) wﬂg@aﬁmmﬁ@mﬁ%m%fﬂﬁ@ﬁ%i

ﬁmmﬁﬁ@rﬁﬂmm‘mﬂﬁr%?

1) (A) @ ¥ g ®) I &

) < (A)aﬁT(R)w% 1

3) (A) 3% T, W (R) 9 € |

@) 2 (A) FRE®) e ® |
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7 4 Make the correct choice from the Assertion (A) and Reason (R) given below

75

Assertion (A) : Supervision is an expert technical service primarily
concentrated with studying and improving condition that
surround leaving and pupil growth.

Reason (R) : Supervision is a planned programme for a better teaching
learning situation.

Which one of the following statement is correct ?

(1) (A) is true but (R) if false.

(2) (A) is false but (R) is true.

(3) Both (A) and (R) true and (R) is the correct explanations of (A).

(4) Both (A) and (R) are false.

| ﬁ%ammmﬁwﬁwmm)amaaf(mﬁmw%sﬁuﬁw

® g - ,
sfwe (A) : vl T Redvan g Ja @ e Ter d faeneif
@t dre =) feafel =t gare ®

T R) T e o TR @ Sy W e @ R
' s wrfemn 2 )

e Fem U ® S W wYH e Y ?

(1) (A) 99 & Wg (R) 96 ¢ |

(2) (A) 39 § g (R) 99 ¥ |

(@) T (A) T R) TA T A (A) F (R) T =

@ F(A)ITR) FTHTT R

Two statements are given below. One is Assertion {A) and other is
Reason (R). :

Assertion (A) :  Criteria reference test encourage closed convergent thinking.
Reason (R) : They establish the proportion of what could be achieved.
Which one is correct from given below ?

(1) - (A) 1s false, but (R) is true.

(2) Both (A) and (R) are true,

(3) (A) is true but (R) is false.

(4) - Both (A) and (R) are false.

T QA e G ¥ o aifeem (A)%aa@ua#(R)%—

AT (A) ©  HO wefi Ther frepe sifnpa fiiaw = trefed w3 |
T (R) ; IE F U TR S Wl € W U S el
e & o W s vl R 2

(1) (A) o753 § =g (R) 9 &

(2) T (A) R (R) T

(3) (A) ¥ § WY (R) o9 &

4) 2 (A) 3T (R) 2w }
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